
1) (8 x 35) - (9 x 57)

Answer: ____________

2) (5 x 78) - (1 x 105)

Answer: ____________

3) (6 x 77) - (9 x 10-9)

Answer: ____________

4) (2 x 38) - (8 x 54)

Answer: ____________

5) (6 x 27) + (10 x 61)

Answer: ____________

6) (3 x 71) + (6 x 103)

Answer: ____________

7) (3 x 36) - (4 x 101)

Answer: ____________

8) (2 x 1-5) + (7 x 82)

Answer: ____________

9) (6 x 109) - (9 x 10-6)

Answer: ____________

10) (2 x 59) + (8 x 75)

Answer: ____________

Total: ___ / 10
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Answers:

1) -701181 2) 28724005 3) 4941258 4) 8122 5) 828 6) 6021 7) 2147

8) 450 9) 6000000000 10) 4040706
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